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7. (a) What do you understand by economic rent? Can

economic rent be equal to total earning or equal to zero?

Explain with diagram.

(b) Why the supply curve of labour is backward bending?

(9,6)

(37) onfefer o & T A W & 7 T HAK T HA I

o T R EAE B w8 7

(@) o ow U A 99 W SR AR g A B B 7

8. Write short notes on any two of the following : (7.5,7.(5\

(a) Kinked demand curve

(b) Nash equilibrium

(c) Price discrimination

(d) Excess capacity in monopolistic competition
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Instructions for Candidates

1. Write your Roll No. on the top immediately on receipt of
this question paper.

2. Attempt any 5 questions.

( All questions carry equal marks.
4. Answers may be written either in English or Hindi; but the
same medium should be used throughout the paper.
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(a) What is social cost of monopoly? Explain with
appropriate diagram. (

(b) Explain the price and output determination of a
monopolist in the long run. Can a monopolist earn
supernormal profit in the long run? Give reason.

(7,8)

(37) TR @ AR AR w2 7 Suged WahE @ e

ToiT R |

(@) vt & Sefeele Swa T IeaeT Fufor # =wen
FW | T UHIE ATEE N FERRT N S aEar 7
RO qATEY |

What are the features of monopolistic competition market?
Analyse the short run and long run equilibrium of a firm ir(
this market. (15)
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Explain the major difficulties face by new entrants in
oligopoly market? Differentiate between collusive and non-
collusive behavior of oligopoly firms. Highlight the price
leadership model of oligopoly. (15)
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What are the major sources of market failure? How does
the asymmetric information lead to the market failure?
Analyse with suitable examples. (15)
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(a) How does market adjust to the changes in demand?

(b) What are the major approaches of internalising
externalities? (7,8)
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(a) Analyse the theory of comparative cost advantage in

the context of international trade using appropriate

examples.

(b) What arguments you would provide in favour of
protectionism? Are these arguments still valid in the era
of globalization? (9,6)
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